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4.1.1 Review of IP Addresses

To send and receive messages on an IP network, what must every network host be assigned?

Why are IP addressed usually displayed in dotted-decimal notation?

4.1.1 (2)

In a network, part of the 32-bit number identifies the network (_________), while the rest of the bits identify the host (____________).

In the early days of the Internet, how many bits of the IP address were assigned to networks?

If 8 bits are used for the network number, how many separate networks can be created and how many hosts can each network contain?

Why did people originally think that the 8-bit networks were enough?

4.1.1 (3)

To whom are the addresses provided by classes A, B, and C assigned?

What are classes D and E reserved for?

Network ID

	Class
	Network bits
	Host bits

	Class A
	
	

	Class B
	
	

	Class C
	
	


High-order bits

	
	First Bit or bits
	Decimal value range
	How many hosts

	Class A
	0
	
	

	Class B
	
	
	

	Class C
	
	
	


4.1.1 (4)

What id private network address?

Why is it important to use private network addresses?

Review the table on the right.

4.1.2 Subnetting a Network

What are the problems of an organization with thousands of hosts that are server by a Class B?

What are subnetworks?

What is subnet mask?

What does 1 indicate and what does 0 indicate?

Take a look at the table on the right.

4.1.2(2)

What are the first three leading bit values used for?

Default subnet mask

	Class
	Subnet mask

	Class A
	

	Class B
	

	Class C
	


How many levels are there in the subdividing classful network?

How to subnet a Class C? For example.

If we borrow 2 bits from host section, what would be the subnet mask?

4.1.2 (3)

Study the table on the right.

What should be kept in mind in all IPv4 networks?

What is an address with all 0s in the host portion of the address?

What is an address with all 1s in the host portion used as?

When a network is subnetted, what does each subnet contain?

4.1.3 Custom Subnet Mask

What is the difference between a default subnet mask and a custom subnet mask?

What is the math equation for a specific number of subnet?

If we borrow 3 bits, how many subnets are we going to get and how many hosts does each subnet have?

4.1.3 (2)

In classed, or fixed-length, what must all subnets be?

What is the equation used to determine the number of host IDs available based on the number of host bits remaining?

Study the table on the right.

4.1.3 (3)

What problems did subnetting solve?

Give an example that might require subnetting?

What is a possible solution to the problem of the overloaded network?

4.1.3 (4)

do the activity.

4.1.4 VLSM and Classless Inter-Domain Routing (CIDR)

What does the original classful subnetting design require?

What is the disadvantage of the fixed-length subnet mask?

What is VLSM?

What does VLSM?

4.1.4 (2)

What are the advantages of CIDR?

4.1.5 Communicating Between Subnets

What is required for a device in one subnet to communicate with a device in another subnet?

What should be included to determine how many hosts are needed in each subnet?

What should be ensured if two routers are connected?

